
10 
Goyb:3.00 wf 

1, 

2. 

4. 

5. 

7 

) (-1,2) 

9. 

3. F1,Fe3 pF,F +F, ne& Qenauydr F, 

) 

g{(1,1).(2,3), (3,5), (4,7) adp enkurer gx)=ax+B ana QariuLIO a ooDb B 

) (5,3) 

SIOJUNdT Gstaj - 2024 

) 2 

4) (2,-1) 

4) 1 

Sy 

20. A = 

) poevALuf 

18. 3+1gt 
19. GG: 

14. 90 sUGAG GaMN lmLuBpar 

II. Goluyo 10 lerrinig 

p-10P+21 
P-7 

)(-1,-2) 

) 3 

)2 

90 OUts (paarCMb ABC d LC 90° LDODÒ AC= 5cm lob aeeo AB mS A) 2.5 e ) 5 Qt 

AAselen clg a) 1:2:3 
13. 5O 20 w) qcheefldr cvts utts onelwrGI 

) 32.25 ) 44.25 

21y42y+21 

8. 3x-y=4 odpb x*y-8u GsiCarQact etbGD yefl 
) (2,4) ) (3,5) 

(2,1)g QwLQn yeheflunss QsrcL Gst Csrsr 
) Xy-3=0, 3x-y-7=0 ) X*y= 3, 3x+y=7 ) 3x+y=3; x*y=7 F) x*3y-3=0, xy-7=0 10. 90 GsTyrtdr ugb 60° Bgb. Auanen& sIyD goDs GsneD 30° b 45° LUGb Gung GamyTAn Ayoreng) X ß Gmpdps eflo, X dr ogÜy 

(3) B(i) 

17. 13824 =2x3 TeAe) a obnb b d oiy sIclres. 

p24p12 
(P-3) 

) 10 Qeß 

3) 2:1:3 

16. f(x)=-1, g(x) = X2 rgie go f(a)=1 aleo à a snGTa. 

9) 43 

) 2 

) 4 

Register No. 

) (1,2) 

R) 3 

X 

3 

10 saflB-1 

F) 

) 3 ) 6 )8) 11 

) 1:3:2 

oUQuadasdr : 100 

) 5V2 Qet 

F) (4,4) 

Mo320 

) 33.25 

agsarngiCaw lnLssNDGO DGÜLgparer 
a)1 O)3 F) 1.5 

oulkeai. elerr a 28åc airuors lLutse. 
15. A=(1,2,3) oDob B=(x ndrugs 108 clLalw wsr ) le BxA arcrs. 

F) 45.6 

F) 5 

14*114 

F) 3:1:2 

F) 30 

10x2=20 

21. AABC dr waasadr AB oo ACO mOBs yehefladr (popGu D wdD E Cop, AB-5.6 
Qob, AD=1.4 Qeb, AC=7.2 Qeß obpb AE1.8 Gles aelo.DE I| BC aentar s. 

Z2. 4x-9y +36=0 dup CsiCs wabNN qpub aLÔtcramns seita. 

) 41.92 6 ) 43.92 6 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


QLbuw LHe GsrnNnad sna (V3=1,732) 
24. 704 e.Qle6 Qonosæ yDÜUTÜy lsnhL OG &nbl 
25. Careda sfl sslen chAs 4:7 aatls uDDldn aoT 
46. (sO 21 uc) acraatle L ilwsaßng& snGTG. 

28. (2,a) opp (9,3) rdup yerafladr Qeogb GgICandr onua -h aelo a Ad oguy srcs. 

Aurt. 
28 ArEw I X<3), B= (xEN / 1<x s 4} 1oDIs C= (3, 5) rfléo A x (BUC) =(ArB)U(AXC) adTuDg 

T 7 Glsb nale 5n snwg� SnGH. 
msefldr cgo sns6. 

30. S, S, wDpb S, asua (pmpu 90 mLO agLt lnedr ps) n, 2n obnb 3n 

3r GrarsâLU 10 Qe8, 11 QeB, 12 Qob...24 GeB aup uaa ymtra 15 QNcTeT 

32. rx2 odpyd 2x'.5x°+51-3 yau uvgpÜy& Garenaselen B.Gu.a, arciTa. 

(34) aaflé A-5A+71,=0 aer Bps. 
34. ABC Cmg QeriGaromb yg. U&sdsdr CA Dps C8 d BGÜ;elat (poplu P 

LobDD Q aeli 4(AQ?.+ BP) aer q. 

72 e. Gsd1 aeles k-dn oæy srcG. 

10x5=50 

36:A(-5,7), B(-4,K), C(1,-6) wbpb D(4,5) watop penaTSTIs& GarciL BrDaTBor uqçs 

J6, A4.2) wppy B(6,4) adnp yotelsner eneGD DDU& GAA GarLIgs eDdrunLenL& areire. 
37. 12 6 uphe sLaLer. atAloba nenyá Canytln gbpà GsreaTb 60 

PpüuÜuQbuneldr Gonsg clennw& srsra. 

38. wqb 16 Geß LmLu 9G aLbLlir aOL& GaL Uslo.yDBs asnchsVdT Qlcr 

S9. 16 Qs gTOHm 9teCeonsÜuBSI, GkaÜULO 2-QsB yTPdrer Ap uBsssiuLLIÓ 

d 24,26,33,37,29, J1 uapdi 1ongjumQay Qaoenas srsirs. 

42. 36x60x+61x-mn+n a 90 Pptksb aaiO m, n oÜy smGlTeS. 

10 seflsb - 2 

2x8=16 
43. PO=6.8 GebeA Careb 50 1oDDb tl& CarensAerFDaLqurGNE ÜU`Sens PD=5.2 Qoß aer Do ebAkcIOND DiDyb APQR wmTS. (yONGI) 

44. 90 Cuobs 60 BDefl dnp rer Gaso uusaaps. sTLtyáarar SITb-GETb 
(i) <As SD OngAeow& snclrs (i) 90 ALefle uwafab TTD TÁJaTOy 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

